2A E23
U CRNSUNE(DSYER/CZ)
SRl SIS &E EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2 111,175,058 137,669,714 N26,494,656
= 26,582,000
= 84,593,058
CENESUHE(RELER/E2) 102,371,400 128,999,092 A26,627,692
[ 26,582,000
= 75,789,400
IIHIEX S &S 26,715,000 39,283,000 212,568,000
= 19,400,000
=S 7,315,000
SH~EER &2 & - ZETAH(ZD) 18,429,000 31,695,000 13,266,000
= 15,000,000
== 3,429,000
401 AlEHIZ 2018 18,429,000 31,195,000 12,766,000
= 15,000,000
< 3,429,000
01 A28l 17,519,000 30,285,000 A12,766,000
OTAH~EE2 =2 & - IHZA 17,519,000
[ 14,377,000
= 3,142,000
02 2l 890,000 890,000 0
OZAH~EE E2 = - ZEIAL 890,000
= 623,000
s 267,000
03 AIZ2THYI 20,000 20,000 0
OZA~ZE2 E2 & - ZEIAL 20,000
NE~E2 &2 & - ZETAH(Z1) 3,857,000 5,286,000 1,429,000
[ 2,000,000
= 1,857,000
401 AIEHIZ SR 0HYI 2,857,000 286,000 2,571,000
= 2,000,000
= 857,000
01 Al&H| 2,187,000 156,000 2,031,000
OXNFH~=2 &2 & - ZTHZA 2,187,000
= 1,531,000
== 656,000
02 Zeltl 650,000 120,000 530,000
OXEH~=2 &2 & - THZAL 650,000
[ 469,000
= 181,000
03 A& S CHYI 20,000 10,000 10,000
OXE~Se2t T2 & - THZA 20,000
403 AXIEHMSAH=0l 1,000,000 5,000,000 24,000,000
02 SIS0t 2 S A AIEI 1,000,000 5,000,000 24,000,000
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A E234

AN CRUSUHE(DEYSRF/EZ)
SRl SIS &E EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| onm-s =2 =z 1,000,000
So-Jj0rRt E2 & - ERBAHID) 786,000 786,000 0
2 200,000
= 586,000
401 AI£HIZ 2 ChH] 286,000 286,000 0
2 200,000
= 86,000
01 Alt 16,000 16,000 0
OSUIHORt E2 = - TRBA 166,000
2 116,000
= 40,000
02 221 120,000 120,000 0
OSUIHoR £ B - THTA 120,000
2 84,000
= 3,000
03 A& S Ch| 10,000 10,000 0
OSUHoR S B - TRBA 10,000
408 RIXIEHH SXHE0IH 500,000 500,000
P 2| BSUTH R =R P/ ARY 500,000 500,000
OSoUIH0R! E2 & - ERBA 500,000
DI2-5tR2t =2 & - BRBAHID) 2,857,000 1,516,000 1,341,000
2 2,000,000
= 857,000
401 Al HIZ 2 ChH] 2,857,000 286,000 2,571,000
2 2,000,000
= 857,000
01 AIZH] 2,036,000 16,000 1,880,000
ODIZ~5tN2 S2 & - TEHBA 2,086,000
2 1,425,000
= 611,000
02 22l 801,000 120,000 681,000
ODIZ~6tH2t S & ERBA 801,000
2 575,000
= 226,000
03 AI&=CHH| 20,000 10,000 10,000
O0I2-5tH2 T2 = EITA 20,000
FE-BEY 2 8 ERBA(ID) 786,000 0 786,000
2 200,000
= 586,000
401 Al HIZ 2 THH] 286,000 0 286,000
2 200,000
= 86,000
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SN C23
Y CRNSYES(NSESF/E2)
SRl SIS &E EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 Al&HI 156,000 0 156,000
O=3~ 22t &2 SHLHIA} 166,000
= 116,000
< 40,000
02 Zeltl 120,000 0 120,000
O~ T2 T2 SHLHIA} 120,000
= 84,000
= 36,000
03 Al 20HHI 10,000 0 10,000
LR 2 EEETA} 10,000
403 AXIEHHSAH=0lH 500,000 500,000
02 ST 2SO et =2 A P E A I 500,000 500,000
OFE~- 22t =2 SHLIYIZA 500,000
NgE &#E 75,266,400 89,316,002 14,049,692
s 7,182,000
= 68,084,400
A2t & HEAIE X2 1,152,850 2,149,763 A99%6,913
201 et 3| 118,200 547,700 A429,500
01 At22t2l] 115,200 544,700 A429,500
ONZE WSETA 60,000
OZESEME =22 M 22,000
O=Z7% 2 SRMA 3 28,500
OLZMES 2,000
oAtz 2Y 2,700
2 S5=2g4l 3,000 3,000 0
Oz uWSE3l 3| 3,000
202 04l 9,650 10,200 AB50
01 =LHA LI 9,650 10,200 A550
O=HAY & N2l PR 9,650
401 AIZHIX 20HH 500,000 490,000 10,000
01 AlZH| 500,000 490,000 10,000
OXNZE H=28X 24 500,000
403 AXIEHHSAH=201d 525,000 1,011,000 486,000
01 AXEHM A= 2 £ 525,000 1,011,000 486,000
Os0EEZ =1 525,000
Soll~tH=2 Nge =2 3,500,000 4,405,000 905,000
401 AIZHIYL S OHE 3,500,000 4,405,000 A905,000
01 Al&HI 3,145,000 4,000,000 855,000
O=d~H=2 N &2y 3,145,000
02 Zaltl 350,000 400,000 /50,000
O=d~t=2+ Nge &2 350,000
03 A2 = THHI 5,000 5,000 0

- 800 -




14

2A: &2
M C2NSUHS(NSHER/E2)
ol XYE &E (&9 A
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
| o=d-u32 NS sus 5,000
CH=2~EHsS2t NgE =2 d 3,500,000 4,405,000 905,000
401 AlEHIYL 201 3,500,000 4,405,000 905,000
01 AlZHI 3,208,000 4,000,000 AT792,000
OU=~tHs2 XY &2 H 3,208,000
02 Zcldl 287,000 400,000 A113,000
OoU=~eh=S2t XNLe ==d 287,000
03 Al< S CHHI 5,000 5,000 0
Ol=~tH=2 NgE =2 5,000
EHS~AtS2t Nge =2 % 4,000,000 4,405,000 A405,000
401 AIEHIZL R OHY| 4,000,000 4,405,000 A\405,000
01 AlZH| 3,595,000 4,000,000 405,000
OtES~AsS2t Nge &2 3,595,000
02 Zeltl 400,000 400,000 0
OtiS~AsS2t XNYE & 400,000
03 A& S CHYI 5,000 5,000 0
Ot=~AES2 NEE =2 5,000
Te232F RSE SEE 4,810,000 4,405,000 405,000
401 AlEHIYL 204 4,810,000 4,405,000 405,000
01 A=l 4,375,000 4,000,000 375,000
O72-232 Nge &2 4,375,000
02 Zeltl 430,000 400,000 30,000
O7e~-232t XYL & 430,000
03 AlZ = THHI 5,000 5,000 0
O7e~-232t XYL & 5,000
S~2HE2 NYE S22 7,060,000 8,855,000 21,795,000
401 AlIEHIYL 201 7,060,000 8,855,000 21,795,000
01 Al&H| 6,694,000 8,600,000 21,906,000
OLS~2tHE2 NgE &2 6,694,000
02 Zeltl 356,000 250,000 106,000
OS2t XYL =L 356,000
03 Al 2 THHI 10,000 5,000 5,000
O~ XYL & 10,000
BS~Ast2t AL BEE 3,000,000 4,405,000 21,405,000
401 AIEHIZ S0 3,000,000 4,405,000 1,405,000
01 A&l 2,365,000 4,000,000 21,635,000
ORS~M3a2t NIYE =L 2,365,000
02 Zteltl 630,000 400,000 230,000
OdS~Mat2t NLE St E 630,000
03 Al =2 THHI 5,000 5,000
O¥S~N3a2t XY SEE 5,000
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2N &2
HE: CRNSUYAS(RESUSH/C2)
&t Nge &35 EER=E)
2 - IE!
SN - BB SRI(SI) - NISAY - BES O]t e HlRE2
A~ ERE NIYE SEY 8,000,000 8,805,000 805,000
401 AIEHIZL 20HE 6,000,000 8,805,000 2,805,000
01 Al&Hl 5,390,000 8,300,000 22,910,000
OKIE~HER XYL SLE 5,390,000
02 Zeldl 600,000 500,000 100,000
OKIE~ERZF XYL SELE 600,000
03 A& 2 CHYI 10,000 5,000 5,000
OKE~ER XSS S 10,000
403 XX SHHS 201X 2,000,000 2,000,000
02 0| 2SOCHEt A2 X 2 EFAIZ I 2,000,000 2,000,000
O&IE~{ERt XIS S 2,000,000
OIERDN(MRTH) 2 NYE SLE 6,000,000 4,405,000 1,595,000
401 A& B 20HY| 5,500,000 4,405,000 1,095,000
01 AlEHI 4,995,000 4,000,000 995,000
O E~DNHHLM) 2 NLE S H 4,995,000
02 Zeldl 500,000 400,000 100,000
OGEFD( M) 2 NYE S 500,000
03 Al CHYI 5,000 5,000 0
OGEFD( M) 2 NYE &L 5,000
403 XX SHMSKHE01A 500,000 500,000
02 0| 2SOCHEt A2 & 2 EF AL I 500,000 500,000
ONEN(M2TH)2 XIYE SHELE 500,000
g2 NYE S2H 500,000 505,000 25,000
401 A& B2 20HY| 500,000 505,000 A5,000
01 AlEHI 400,000 350,000 50,000
ogig~as2t NLE S H 400,000
02 eyl 95,000 150,000 55,000
ogig~2s2t N &L 95,000
03 AIE =2 CHHI 5,000 5,000 0
ogig~ss2t XL S 5,000
20/~M=2t XgUs Sz 500,000 505,000 A5,000
401 AIEHIZ 20HE 500,000 505,000 5,000
01 AlEHI 400,000 350,000 50,000
ORO0~M=2t X2E SEE 400,000
02 Zeldl 95,000 150,000 55,000
OR0|~M=2F XEE L 95,000
03 Al CHYI 5,000 5,000 0
OR0|~M=2t XUE SILE 5,000
NeEe2 MP=xst & - L& 5,005,000 5,155,000 150,000
401 A& HIZ20HYI 5,000 155,000 A150,000
03 Al CHHI 5,000 5,000 0
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2A E23
Y CRNSYES(NSESF/E2)
ol XYE &E EER=E)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
O3 AL 20HHI 5,000
403 AXIEHMSAH=01d 5,000,000 5,000,000
02 SISOt =2 A P E A I 5,000,000 5,000,000
OXNZEEZ HAXst /AE2Y 5,000,000
KNS =HEAY AL=E D} 115,000 130,000 15,000
207 AR 30,000 60,000 30,000
01 A S| 30,000 60,000 230,000
OXLE HEEAL AFZE I} 30,000
401 Al HIZL S 0HYI 85,000 70,000 15,000
01 Al&H| 85,000 70,000 15,000
OMNZE S SEIISES 85,000
2ASENXNE C2AL 2L HE(OI=2HEEY) 172,550 300,000 127,450
401 AlEHIZ 2018 172,550 300,000 127,450
01 AlZH| 172,550 298,000 A125,450
O&AIZAI 172,550
AYE OlE8k et &t 5,000 4,500 500
201 et 3| 5,000 4,500 500
02 S3=gHl 5,000 4,500 500
OXNZE At Zolithiat Sl 5,000
A2 FRNS(Z)(HEAS) 5,414,000 5,586,100 A172,100
401 Al HIZL 201 5,414,000 5,586,100 A172,100
01 Al&H| 5,414,000 5,586,100 A172,100
OBEZ FZMM(HE) 5,414,000
WEAD Z2 R INE(Z)(HEAIY) 150,000 150,000
401 AlEHIZ S 0HbI 150,000 150,000
01 AlZH| 150,000 150,000
OWSAt] &2 R & (X&) 150,000
WEAD 2 R WL (AIZ)(HEA) 536,000 611,000 AT75,000
403 AXIEHHSAH=201H 536,000 611,000 AT75,000
01 AXISHHA=2E2 X 536,000 611,000 AT75,000
OLSALD 2 2 N (HE) 536,000
SIENXZ EXIAL(E)(HEALY) 280,000 840,000 A560,000
401 Al HIZL 201 280,000 840,000 A560,000
01 Al&H| 280,000 840,000 /560,000
OXYE 3MWAZ SAX|(XE) 280,000
M2 XA (AZ)(HEALY) 1,120,000 700,000 420,000
403 MR HMSAHE01H 1,120,000 700,000 420,000
01 AXIEHA 22 % 1,120,000 700,000 420,000
OAZE XM uIZ AX(HEH) 1,120,000
NS HEA(=1) 13,400,000 4,000,000 9,400,000
[ 6,700,000
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SN C23
Y CRNSYES(NSESF/E2)
ol XYE &E EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 6,700,000
401 AIEHIX R0 12,400,000 4,000,000 8,400,000
[ 6,200,000
= 6,200,000
01 AlZH| 9,400,000 3,990,000 5,410,000
ONZHL AL 9,400,000
[ 4,700,000
= 4,700,000
02 Zeltl 1,000,000 0 1,000,000
ONZHL ALAS 1,000,000
= 500,000
< 500,000
03 AIZSTHYI 2,000,000 10,000 1,990,000
ONEHL ALAMH 2,000,000
[ 1,000,000
= 1,000,000
403 NHXISHMSAH=01H 1,000,000 0 1,000,000
= 500,000
= 500,000
02 SI12S0IT et = A P E A I 1,000,000 0 1,000,000
ONZHL ALAH 1,000,000
= 500,000
[ 500,000
ZEd A2 xd 50,000 50,000
308 AtXIEHMSOIE 50,000 50,000
18 SIS Y AS A 50,000 50,000
OLAZZE2(ZRAUOMZE) E20BIE 50,000
SOHeH HiRIF 22 & (21) 627,000 10,400,000 A9,773,000
= 482,000
= 145,000
403 AXIEHHSAH=0lH 627,000 10,400,000 29,773,000
= 482,000
[ 145,000
01 A= 2L 627,000 10,400,000 A9,773,000
OSoiot BIZot &2 xd 627,000
s 482,000
== 145,000
SN SMESIEZ MSKIF S2HE(21) 6,369,000 7,090,000 AT721,000
401 AIEHIZ SR OHYI 6,369,000 7,090,000 AT721,000
01 Al&HI 6,000,000 6,690,000 A690,000
OSAM =SMESEZ MEXNT T2 6,000,000
02 Zeltl 369,000 390,000 /31,000
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2A: &2
M C2NSUHS(NSHER/E2)
ol XYE &E EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
O=sN sMESEE MSK7 S20H4 369,000
03 AIZ 2 THYI 10,000 10,000 0
O=sN SMESEZ AZK+ S2H4 10,000
NEE2Y EF 390,000 400,000 10,000
2E2Y A40|= 240,000 100,000 140,000
401 AIEHIZL SR OHYI 240,000 100,000 140,000
01 AlZHI 240,000 100,000 140,000
OMI3Xt D=2 A4 e 240,000
HHE2Y ALD|= 150,000 300,000 150,000
401 Al HIZL 201 150,000 300,000 150,000
01 Al&H| 150,000 300,000 150,000
OHMBRt =% - =XE AMEDIE L EIEEH
& 150,000
iﬂ)xo*alﬁﬂgl SEX 2 (LESSHEY/NLSHE - THEX 2,232,600 1,992,600 240,000
SIREE HHFA 2,232,600 1,992,600 240,000
QIRIEX E2AMY FA 2,232,600 1,992,600 240,000
201 L= 180,000 180,000 0
01 AtR22telbl 180,000 180,000 0
ORIUEA ZZ2AY 2 A2 € 838 ==
= 180,000
202 044l 3,600 3,600
01 =LA LI 3,600 3,600
ORIZIEX E2 At F& 3,600
308 XXM SOOI 179,000 279,000 100,000
01 RSN E2ES 179,000 279,000 100,000
OO0IAE 228t S#E SUAY 179,000
402 SIZERHE0| M 1,870,000 1,530,000 340,000
03 GIZt2(Er AR I 1,870,000 1,530,000 340,000
OllANEHE U s ZH =424 1,870,000
HHY2AAHI(ZZ ) (IIEHIIEH 36,035 41,144 Ab5,109
JI=3l 36,035 41,144 A5, 109
FA2E J|I=22H| 36,035 41,144 A5, 109
201 L2 24,493 28,584 A4,091
01 AtR2telb] 24,493 28,584 A4,091
SA2Y AR2tel] 24,493
202 04| 7,942 8,360 A48
01 2L AL 7,942 8,360 A418
OF A2 =LY 7,942
203 2= 3,600 4,200 A600
04 EAE2EERFAH 3,600 4,200 2600
©20e! olat 300,000 122 3,600
HRes(E2)(NSHER/E2) 6,535,023 6,636,878 A101,855
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A E2
M JRES(C2)(LELSR/ER)
chel: BEXE EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
RSPNES 5,930,023 6,031,878 101,855
NYE SEI(XYB) 5,930,023 6,031,878 A101,855
311 XY 20/ XAt 342,523 444,378 101,855
05 JIEFRI S0l XrAf & 342,523 444,378 A101,855
O'15d XY SHEF(SIIS) 268,659
O'16d XY SEE (XIS AA) 73,864
601 AL 224t 5,587,500 5,587,500
05 JIEF=URIL SRS 4E 5,587,500 5,587,500
O'15d X SHEH(SIDIS) 2,000,000
©'16E XYT SHIE (XA AHAY) 3,567,500
NE W EIPNE 605,000 605,000 0
Xge stz 605,000 605,000 0
705 OS2I Z A 605,000 605,000 0
04 Al - SXISHLI 20420l RHat 2 605,000 605,000 0
O'20E XYs I 605,000
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